





















































































































































































































































































































































































































































Ex_1

April 18, 2023

[18]: import matplotlib.pyplot as plt
import numpy as np
import matplotlib as mpl
mpl.rcParams['figure.dpi'] = 300

n = 1000

t = np.linspace(0,3,n)
I = t*(t<1) + (2-t)*(t>=1)

Q = np.array([np.sum(I[:i])*3/n for i in range(n)])

plt.plot(t,I, label="I")
plt.plot(t,Q, label="Q")
plt.ylabel("I in V und Q in C")
plt.xlabel("t in s")
plt.legend()

[18]: <matplotlib.legend.Legend at 0x7f796b6b18d0>

1



[ ]:

2



In[ ]:= e0 := 8.854187812813 * 10-12;

e := 1.602176634 * 10-19;

me := 9.109383701528 × 10-31

1

4 Pi e0

-(e)2

0.012

NSqrt
1

2 Pi e0

e2

0.013 me


Out[ ]= -2.30708 × 10
-24

Out[ ]= 22506.2
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